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_ Choose the correct meaning of the idioms from the given alternatives :

Keeping the wolf from the door.

A) Keeping off starvation B) a bitter and deadly struggle
C) excellent work ; ! D) come into close contact
Black sheep

A) good characters ~ B) bad characters C) black in colour D) fair coloured
gall and worm wood

A) hateful B) mostdecidedly C) ranoff D) maintained his position
Collect :

A) gather B) disperse C) discord D) diffuse
Matriarch :

A) patriarch  B) orthodox C) manly D) secular .
Gruesome :

A) Dangerous B) pleasing C) repulsive D) fearsome
Select the sentence having faulty arrangement of words in a sentence.

A) The dog bit the horse B) The king wears a crown

C) The child is asleep D) Few people learn anything that is worth learning easily.
Identify the figure of speech of underlined word : He is a brave boy.

A) exclamation B) climax C) interrogation D) Pun

Choose the odd - Man out

A) Brave - braver B) fine - finer C) white whiter D) large - largest
Identify the part of speech of underlined word : He is a brave boy.

A) Adjective B) Pronoun C) Verb D) Adverb

The noun 'quality' is ...... \

A) proper noun B) abstract noun  C) collective noun D) common noun
The earth ....... round the sun. '

A) move B) moves C) moved D) moving
1........him for a long time. -
A) know B) have known C) amknowing D) none of these

Noun / of us / have / seen God.
{A) - (BY  (C) (D)
_The / mob /have gathered / together

(A) (B) (C) (D)
He advised / his friends / to no quarrel / amongst themselves.
(A) (B) () (D)
‘We have / already discussed / _about / this issue
A . . (B) (C) (D)
Callous
A) hard B) quiet - C) tranquil D) frank
Perennial

A) thoughtful B) perpetual C) holy D) Premature
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Imposter :
A) cheat B) lifeless C) angry D) lively
A group of word which makes a complete sense is calleda .......
A) sentence B) adjective C) verb D) noun
A ..........1is a word used to join words or sentence. '
A) Conjunction B) Proper C) adverb D) preposition
'Hingoli'isa........ noun.
A) Common B) Proper C) Collective D) Abstract
The Headmaster ....... to speak to you.
A) wants B) is wanting C) was wanting D) wanting
Here are your shoes ; I........ them.
A) just clean B) just cleaned C) have just cleaned D) cleaning
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